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C 2. Excel

Table 1 Treatment and area lacked seedling

The length Absolute area Real area
ow

Number of spacing lacking lacked lacked
treatment Cem) seedling seedling seedling
(em) (m* (m?)
1 70 300 2.10 2. 100
2 70 270 1. 89 1. 848
3 70 240 1. 68 1. 638
4 70 210 1. 47 1.428
5 70 180 1.26 1.218
6 70 150 1. 05 1. 008
7 70 120 0. 84 0.798
8 70 90 0. 63 0. 588
9 70 60 0.42 0.378
10 70 30 0.21 0. 168
11 70 20 0. 14 0. 098
Ck 70 0 0 0
* = — 1
* Real area lacked seedling = Absolute area hcked seedling —
Area per plant
2
2.1
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2
50089 . 6cm . 14em (
2. 1. 0.098m?),
2. 1 . 50089 2.2
, 43 2—3 ,
0.098m? ( 20cm ) . 2.
C 2. 1 2,
( ) ( 0.098m”) 700 2
= | y=06. 574x°+180. 14x-9. 135
. = 0 R = 0.9991
o B
’ 2 ° E 1601 -
, 0.098m 171000 > o]
: 200kg 2 g
s . 0. Ho1a0
098m” 1 Y=747.25x" i o 1 s ; 25
+228.21x—8.9332 . SEEMThe area (o)
R* 0.9975. ; 20cm B2 EAHSHBXORSRE=RANES
( 0.14m> ), Fig. 2 The relationship of lacked area
2

Table 2 The average yield of plot lower than CK

The average The average The average

Number of rllz;rlfe?;‘:)? yield lower  yield bwer  yield lower
treatment (m2) than CK in  than CK in  than CK in
none— blanch few blanches more blanches
variety (g) variety (g)  vanety (g)
1 2. 100 783" " 790 * 770 ¢ *
2 1. 848 680 " 670 " 640 " "
3 1. 638 571" 532" 510"
4 1.428 489 " * 444" 384"
5 1.218 386" 3517 279 "
6 1. 008 276 " " 276 " 201 "
7 0.798 202" 194" 138"
8 0.588 154" " 134" 98" "
9 0.378 9 " " 720 59"
10 0. 168 38" " 14" 1
11 0. 098 1 6 3
CK 0 0 0 0
* 0.05 ;Significant at 0. 0 5 level
xox 0.01 5 Significant at 0. 01 level
700 1

74. 725x°+228, 21x-8. 9332
R® = 0.9975

~
i

238588

7= BEThe yield{g)

=)

o 0.5 1 15 ) 2.5
& E#The arealn®)

B AoES&RaEaRSsErEgRmxs

Fig.1 The relationship of lacked area

and yieldin none=-olanch wariety

and yield in few blanches variety

2 Y=96.574x"+
180. 14x—9. 135, R*=0. 9991,
. 1 , 0.
098m” , 0.168 m”
5% .
23.8 . 0. 098m? (
20cm) , ,
2.3
3 39
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. 3.1.3 Y = 149.
39x*+60. 308x — 1. 5213, R*=0.9978.
3 . 0. 168m> ,
3.1 3- 2
3.1.1 y= 321 ,
747.25x%>+ 228. 21x— 8. 9332, RZ=0. , , 1
9975, , 0.098m> ’ ’
3.1.2 Y =96. ,
574x>+180. 14x— 9. 135, R>=0.9991. . ; ‘
0. 098m> /
) C 3).
3 .

Table 3 The yield of theory, the yield calculated by formula and conversion coefficient

for the yield calculation in the area of lacked seedling

None— blanch variety Few blanches variety More blanches variety
The area
lacketzl of The yields The yields Tt ) The yields The yields Th ) T he yields The yield The o
(m*) in theory by formula ,]e Come:, in theory by formula . © con?? in theory by formuh i N (,on\./?
(o) (o) rsion coeffi- (o) (o) mion coeffi- (o) (o) msion coeffi-
& g cient g g cient g g cient
2. 100 835.0 799. 8 0.96 847.0 795. 1 0.94 867.0 783.9 0.90
1. 848 734.8 668. 0 0.91 745. 4 653. 6 0. 88 763.0 620. 1 0. 81
1. 638 651.3 565. 4 0. 87 660. 7 545.1 0. 83 676.3 498. 1 0.73
1.428 567.8 469.3 0. 83 576.0 445.0 0.77 589.6 389.2 0. 66
1.218 484.3 379.9 0.78 491.3 353.5 0.72 502.9 293.6 0.58
1. 008 400. 8 297.0 0.74 406. 6 270. 6 0. 67 416.2 211. 1 0.51
0. 798 317.3 220. 8 0.70 321.9 196. 1 0. 61 329.5 141.7 0.43
0. 588 233.8 151.1 0. 65 237.2 130. 2 0.55 242.8 85.6 0.35
0. 378 150. 3 88.0 0.59 152.5 72.8 0.48 156. 1 42.6 0.27
0. 168 66. 8 31.5 0. 47 67.8 23.9 0.35 69. 4 12. 8 0.18
0. 098 39.0 14. 1 0.36 39.5 9.5 0.24 40.5 5.8 0. 14
* = - X B = -
* The yield in theory = The yiel in CK / Area of pbt X Area lacked; Conversion coefficient = The yield in theory / The yield by formula
‘ = (g)/
2 2
(m” )X (mHX 3
2
o ’
1 s s . (G
[J]. , 1995, 21(3): 300— 306.
° 2 . ; : . X
3.2.2 1. . 1989, (2); 22— 28
23.8 1 3 . 1. .

1983, 2(2); 132— 138,
4 . . [M]. . 1983,



130 2

STUDY ON THE ESTIMATE THE YIELD OF LACKED SEEDLING AREA
IN SOYBEAN APPRAISAL THE YIELD IN SOYBEAN

Wang Jian Wang Xuefeng Wang Weifeng

(Soybean Institute Northeast Agricultural University, Harbin 150030)

Abstract An experiment imitated lacking seedling was done for appraisal yield on none— blanch, less blanches
and more blanches varieties in soybean. The result of variance analysis showed that; There was a same yield
level in the yield of plot betw een lacked 0.098 m* and CK in none—blanch varieties and less blanches varieties.
There was no difference in the yield among 0.098 m* 0.168 m” lacked seedling area and CK in more blanches
varieties. The equation between the yield and lacked seedling area for none— blanch varieties was Y="747. 25x"
+228.21x—8.9332, R*=0.9975; Y=96.574x"+180. 14x—9.135, R*=0.9991 for less blanches varieties
and Y=149.39x’+60.308x— 1.5213, R’*=0.9978 for more blanches varieties.

Key words Soybean; Yield test; The yield estimate of lacked seedling area



